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SCHOLARS ACADEMY

a)

c)

c)

a)
c)

a)

General Intelligence and
Reasoning

Select the Venn diagram that best represents the
relationship between the given set ofgroupes .
Gases, Solids, Helium

39 39 ANW BT T99 BV, ol 3T ¢ avf & faw
g ¥ 99 & Taul @1 gataw 9 I e s

gl
, @0

A4, 314, giferaw
o (D
Which symbol will be on the face opposite to the

face showing ‘%' when the given sheet is folded to

form be?

a?néiq;%emﬁaaﬁﬁmwmmw%w
R fAftfa w9 & % & fauda Rzn & 1= a1 Fn
(e smm?

},
& S
@
o/ | u
S0 rr
& b) @
+ d $

Select the option that is related to the third letter-
cluster in the same way as the second letter-cluster
is related to the first letter cluster.

I fapd &1 999 W, e gt seR-a9g &
Ty g ey 7, o) g seR-ugg &1 Uy 3iER-

TgE A gl

RN:IG::HX:?

CL b) CK
DL d) DK

P is the son of Z. U is the daughter of K. Q is the
mother of C and U. P is the brother ofk . How is Z
related of U?

P,ZHTITRIU, KPIIARIQ c 3R UBIATRIP,
K T HTS 81 Z BT U T T oy 872

Either materal
grandfather or materal
grandmother / AT ar 9
BIEICH

paternal grandfather/alal

b) Paternal grandmother /

d) Either paternal
grandfather or paternal
grandmother /AT @l Q&
Al

5.

c)

a)

a)
c)

Read the given statements and conclusions
carefully. Assuming that the information given is
the statements in true, even if it appears to be at
variance with commonly known facts,decide which
of the given conclusions logically follow(s) from the
statements.

Statements :

1-Some cats are goats.

2-Some goats are dogs

Conclusions : I. All dogs are goats.

Il. Some dogs are cats.

I1l. No dog is cat.

fau e Y=Y 3R el &) e A US| FYA A S
T TSR © I A §U AR &%, 39 a8
IJHT=a: 31d 9t I fua ydia 8. 81, ik gane f&
P A1 frpd, FYA1 &1 difbd FU A SR BT
gl

DY :

1- 7o fafewal sefkar g1

2- O IH Il B9 g

e

Either conclusion Il or Il b) Only conclusion | and IlI

follow TT @ w11 T 111 follow Fad FpY | 3R
SRV Rl g 11l SFTERT 3 B
Only conclusion Il and Ill d) Only conclusion | and Il

follow Had FpY 1| 3R Faa fswd | 3R 0l
IEERRUERG R SR IR B

Select the number that will come next in the
following series.

I " BT T Y, o Fofafea jaer d 2 &
R TR M

15, 26, 18, 25, 21, 24,?

25 b) 22

23 d) 24

Select the correct option that arranges the given
words in a logical and meaningful order.

1- India

2- India Gate

3- Delhi

4-World

5-Universe

39 HE Roew o1 9g9 &%, ot Fafafee vt &
ahTa 3N 3rdyuf ww #) gifar 81

1-HRd
2-3fsar e
3- faweit
4-fay

5- 9IS
4,51,3,2
543,12

b) 2,53 41
d) 54,132

Mob. - 01141676717,9312712114

Page 2




SCHOLARS ACADEMY

8.

a)

c)

a)

10.

a)
c)

11.

Raina started walking from the bus stand towards
the east and went 80 m. Then she turned left and
walked 70 m. She turned left and walked 55 m.
Then she turned right and walked 45 m. Which side
should she turn now and how much distance should
she walk so that she is 115 m north from the bus
stand?

13 9 WS A gd o1 3R Ta = fmar iR 80
. el | fibR a8 a1 3R g 3R 707, =elt| a8 fhR
¥ 918 3R g iR 55 1. Tt v a8 g gt ok
457, Tt 39 fra RE g1 AT SR frasit @R
ST IR, magavg% 115 Y. 3w fe=m &
LEEEL

Eii[ght, 25 m/aRs 3R, 25 D) Eﬁght, 35 m/ a8 3R 35

Left, 35 m/@T8 3R, 35 Hl. d) Left, 25 m/aT 3iiR, 25 .

In the diagram given below, the ’'Rectangle’
respresents ‘Bank employees’, the 'Triangle’
represents ’‘Indians’ and the 'Square' represents
‘Males’. The numbers given in the diagram
represents the number of persons of that particular
category.

49 e e e ¥ emga, ‘9@ HH=IRGl B
frefie o §, Byer, urRda e s
¥ ok @il "'goul &) FRefd e g1 v # &
g"@ﬁ 39 faviy 4t & wfeal 91 @@ o1 gl

|

40
3

5\

—

How many male bank emplyees are not Indian?
fra v ¥ SHar HRdT 7 &

15 b) 5

6 d) 3

If 'A" stands for ‘division’, B stands for
‘multiplication’, C stands for 'subtraction’ and D
stands for 'addition’,then find the value of the
following equation.

gfe A BT A "unT B, B BT 34 U, B1 € BT 3
e § 3R D &1 3 wisAr % A Prafara
TSR &1 0 J1d SIS

14B3D(17B4)C(84A3) =
82 b) 76
80 d) 68

Select the option in which the words share the same
relationship as that shared by the given pair of
words.

Cricket : Umpire

39 fawey &1 994 &9, orgH fiw e o) & ftg a8l
Way B, ot R T g & wd} b A
W:a’rqm

a) Hockey : Defender [Ri! : b) Football : Referee/gﬁavﬁf
fSther B

c) Chess : Checkmate/ d) Boxing : Ring /ST
AR (A9) : FHHT T

12. Select the option that is related to the third 3 letter-
cluster in the same way as the second letter-cluster
is related to the first letter-cluster.

I fawed &1 799 B, et Jeftg iR - 99 &
1y IE WY B, o g seR-uug &1 Uy 3MER-

TIE A

TCM : VAO : KZR : ?
a) MXT b) MYT
c) Mvs d) NYS

13. Select the letter that can replace the question mark
(?) in the following series.

I &R BT 991 B, o Fufafed gaar § usaras

g (?) R W) 3T G B
X TP L?
a) F b) G
c) H d) |

14. Select the option in which the given figure
embedded/hldden (Rotatlon is not allowed)
99 faged &1 9uq o, A & 1 smefa x
smﬁﬁ%?r%l (ST A Bt rufa AL B)

Figure-X
R
11 11|
a) Lesmee b)
b.4
0) - d)

15. Select the option in which the numbers share the
same relationship as that shared by the given
number-pair.

39 ey &1 707 3%, e § 18 denef & =
%é’rqu'%r% it foT U wen-gw # wemnsit ¥ =
|

4:80
a) 3:239 b) 5:150
) 7:292 d) 3:66

16. In a certain code language, TALK is written as 44.
How will MARK be written as in that language?

T i geurwr &, TALK &1 44 forar wmar g, St
PeHTHT T MARK F $ ferar smeam?

a) 40 b) 45
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c)

17.

c)

18.

a)

c)

19.

a)
c)

20.

a)
c)

21.

43 d 41

Select the correct mirror image of the given
alphanumeric cluster when the mirror is placed at
MN as shown.
fau ¢ 3w -quf wqg & T gdur ufafds &1 a7 +3,
o9 {3 guor H1 MN TR T AT FL

MG Y654R N
CALReS¥Y by CY@2¢K
CLe2YH o CAeRVE

Select the option that is embedded in the given
figure.

gﬂﬁmmwﬁ,m’r?ﬁﬂiﬁﬂ?ﬁﬁaﬁﬁﬁa
|

LA 0
w¥ B

Five friends Aslam, Vinayak, Kartar, Rozy and Suresh
are sitting inan straight line facing north. Aslam is
to the immediate left of Kartar. Suresh is to the
immediate right of Rozy. Kartar is at the second
place to the left of Rozy. Who is sitting exactly in
the middle?

e i ufe & 98 1 oW FAaR &
3P a1 3R 31 R Aot & S 215 3R 31 FaAR
St & 15 3R feedia WA W 31 a%ad § 7 RA
W P 9371 82

Aslam/3IcH b) RozyR-Gi
Kartar/®XdR d) Vinayak/ﬁ:l'W
In a certain code language, ‘'l am fine' is written as

'Du Cu Zu’, 'He is fine' is written as 'Ku Mu Du' and
'l and He' is written as 'Cu Tu Ku'. How will ‘and’ be
written as in that language?

Wﬁﬁlﬂﬁ‘lﬂm ﬁ, ‘I am fine' B 'Du Cu zu' forR@T
\_rl'IT'lT%, 'He is fine' and 'Ku Mu Du' fer@n \_SI'IHT% Sﬁ?
'l and He' @1 'Cu Tu Ku' foraT Sirar 81 3¢t ey #
‘and’ P A forar smeem?

Ku b) Tu

Du d) Cu

A + B means 'A is mother of B’
A - B means 'A is brother of B’
A x B means 'A is husband of B’
A = B means 'A is father of B’

a)

c)

22.

a)
c)

23.

a)
c)

24.

a)

25.

a)

c)

26.

c)

27.

What does R + Q + S mean?

A+BHTAIR-'A BHIATR
A-BHTAYE-'A, BB UE®
AxBHTIHSE-'A BB TR
A:BHTISR-'A BHI TR

R +Q+ S &R Nf§?

R is maternal gradmother b) Q is mother of S Q, S P

of SR, S BT A B ik

R is mother of SR, S @I d) R is paternal

gl grandmother of SR, S P
CACHE]

In a certain code language, END is written as VMW.
How will SIT be written as in that language?

T fAf¥a geutar #, END & vmw fRraT wiTaT 1

I FeUTHT A SIT B F4 o wrgmm?
HRG b) HSG
GSH d) GRF

In a certain code language, 1259 means 'box in the
ring’, 6941 means the square boxing ring' and 5713
means 'put the box out'. Find the code for ring'.
el fAf3a ois wrar & 1259 F7 3F § 'box in the
ring', 6941 &I 31 g 'the square boxing ring' 3R
5713 &7 Y % ‘put the box out’ | 'ring’ & ﬁl’q Car
1d B

1 b) 9

2 d) 5

In a certain code language, FRIGHT is written as
699782. How will PLOUGH be written as in that
language?

e FIf3a HeuT 8, FRIGHT @1 699782 fer@m Siran
21 3t TeuTaT ¥ PLOUGH F 1 forar smeem?
736778 b) 736378

746487 d) 836389

Select the number which can replace the question
mark (?) in the following series.
I HEIT BT 99 BN, A

% (7) F R R 31 qFd g
105, 106, 114, ?, 205

142 b) 143
141 d) 140

@ ¥ uyarES

Select the letter-cluster that will come next in the
following series.

& T3 g W U W 3 aTd HER-THE BT
T DR

B3D, F7H, J11L, N15P, ?
R19U

R19T

b) Q18R
d) R18T

Which two signs and two numbers should be
interchanged to make the given equation correct?

feu T gitevur #) Hgfta T & R $19 A &
gl ®1 3R ) T=3i FY WER Fea-T aree?
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a)

c)

28.

a)

29.

a)

30.

27 + 66 -7 + 21 x 4 = 81

4and7, +and x/4 3R 7, b) 27 and 7, + and +/27 3R
+ G-ﬁ? X 7, +

4and7, = and x/4 3R 7, d) 66 and 21, + and - /66
+ 3R x IR 21, + 3R -

Read the given statements and conclusions
carefully. Assuming that the information given in
the statements is true, even if it appears to be at
variance with commonly known facts, decide which
of the given conclusions logically follow(s) from the
statements.

Statements :

1-All gymnasiums have an electric machine.

2-P is a gymnasium.

Conclusions :

1- Places other than gymnasium do not have an
electric machine.

I1. P has an electric machine.

o T SYET 3R Frwul &) o | ud 1 YA F

T8 ISR B T AT g AR &, v gafy a8

I ma@ﬁﬁmuﬂaﬁﬁﬁ,aﬁ?m%

éﬁqmﬁﬁﬁ&,wuﬁmmwﬁa{wm
|

DY :

1-2f saraTRTeT ¥ Ue safaes aRi et @

2- P U AT 2|

e -

. TITHRITEAT & 3fATal 30 R W safaed A=
el gl 81

I. P ¥ U9 gafees w=iF 21

Both conclusions | and Il b) Only conclusion | follows
follow s | IR 11 QAT Faa FAspd | & TR0
GRS EZGE] AT

Only conclusion Il follows d) Neither conclusions | nor
Fad ey 11 SIERU Il follows T < FISHY | 3R
FIAT 5 TE 11 3TERT BT B

Select the correct option that arranges the given
words in a logical and meaningful order.

1- Fertilization

2- Sperm formation

3-Embryo

4- Birth

5- Infant

39 uEl fawed 31 999 N, o Fafafed s=i &
THETd 3R rfyuf vy w1 g=far 21

SELEE]

- YBTY] HT FAmtor

yor
- S
b) 2,1,4,3,5
d) 231,54

—\l\)

4,35
.3.4,5
The sequence of folding a piece of paper and the
manner in which the folded paper has been cut is

a)

c)

31.

a)

c)

32.

a)

c)

33.

a)
c)

34.

a)

c)

35.

shown in the following figures. How would this
paper look when unfolded?

PRS & TH ghs I UIgA &1 A AR I8 a1,
ora® 43 g¢ N F Fred? FHifed srpfaal &

ﬁ'@mwélaﬁaﬁmwmmm

DO
&

ooon
ooon

ooon
oo on

Mathematics

Which of the medieval Indian rulers is known for his
policies of market central?

AR HRAIT TP § 9 $F T IR

forizror fiferat & forg s e @2
Bahlol Lodhi/ Sg@Id ad! b) Firoz Shah  Tughlag/
[ERE RIS

Alauddin Khilji/ 3{c G?:-'-l d) Balban/ ddd-d
Racrott

The strongest force
phenomenon of tides is;
R $1 g1 & forg ormiqR we wfdsmren 9« 8:
Differential temperature b) Gravitational force of sun
of oceanic water IH% & gﬁmw&maﬁ
arft o1 fandl e
Cariolis force ®IR3Nfe™ d) Gravitational
EN moon THT BT
EG)

responsible for the

force of

The Dudhsagar waterfall on a Goa-Karnataka border
is formed by the river.

Mar-$aled AT W GUITR SFauud 41 gRT
YA B
Mandowﬂ:ﬁ@?ﬁ
Kabini/aaTfaT

Which of the following is not one of the
constituents of the alloy called germansilver ?

fFafafee & @ o9 @ urg 9= Rier e Ay
YT T U ] o7
Silver/aial
Nickel/Ffda

b) Zuari/S[3M_I
d) Malaprabha/HITYHT

b) Zinc/fSi® (SR
d) Copper/didT

The brilliant red colour of rising and setting sun is
due to the of light.
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a)
c)

36.

a)

c)

37.

a)
c)

38.

a)

c)

39.

a)
c)

40.

a)

c)

41.

C)

3T 3R R4 BId Y Jd PT IHGSR Ard T
BT P SR T 2|

Scattering /910 b) Absorption/3{aRIS0T
refraction/3Mqdd d) dispersion/qﬁa'qUT

Who discovered the photoelectric effect?

BIeigdiaed YUTG &I Wil fha- a1?
Einstein/&lﬁa?f

Andrew Finch/Zggftd  b) Albert

Heinrich Rudolf d) JC Maxwell/SIH Hogad
Hertz\%:lﬁ_d? TSIh ?‘é\_sr

gaR o ugen Wiifsa sie wua e s #
AT T

In which state the first compressed biogas plant in
the Northeast was built?

USTd Punjab
RTSTRYT Rajasthan

b) 3IH Assam
d) STRIGS Uttarakhand

The Indian Railways has proposed asthe
headquarter of upcoming south coast Railway zone.

URAY ¥4 & MMA qféor adty Yed & @
TR TOITed $El fRud 82
Vijayawada /fasrgaret b) Vishakhapatnam

Guntur/Tex d) Guntakel/TJchd

Which of the following is the abbreviation for the
scheme for boosting regional connectivity by
bringing smaller cities and towns on air map of the
country?

fFrafafaa & & #1941, 31 e SR T H IV FH
BAT8 AFRE W AT &g HaieddT (@Afaefad))

P TTaT 1 B GIoHT BT Tldra ATH @2
DRUT b) UDAN
VAYUSHREE d) VAYU

Which of the following is not listed as a
fundamental right in the Indian constitution?

fFafafEa § @ frd yRdig dfgum & 9ifee iffer
& wu A YAl T8 fonar T 37

Equality of opportunities b) Freedom of speech and
in  matters of public expression  HIYUT

employment BIESIRED SHfYafad &1 Wa=ar
ISR & HIHe H SHawRI

BT A

Equality of law/faf® d) free legal aid/ g BFLA
BEGI NERGI

In the context of isotopes of any element, which of
the following statements is not correct?

fft off 7 & FwRnfel & e H, Fufaf@a # &
DI AT HYT WE1 T8 02

They have same atomic b) They differ in physical
number 39T properties

SHHID THM BT 8| o1 e B &

They have same mass d) They have identical

42.

a)

c)

43.

a)

c)

44.

c)

45.

a)

46.

a)

c)

47.

chemical properties. REL:7
RS 0T 9 Bl & |

number 3THI  GHAM
T A gt gl

With regard of human blood pressure which of the
following statements is NOT correct?

U9 J§a9d & Hay #, Fufafag & @ #9 -ar sy
g E 82

The blood pressure is b) The pressure in artery
much greater in arteries during the ventricular
than in Veins RR13 &t diastole (relaxation) is
NEL Tyl o aaay called diastolic pressure..
AT BrT g1 dfeFrR
R F IR yw
H Q1 Pl SIS ad
BRI

Arteries are the vessels d)
that carry blood from
various organs of the
body to the heart. et
d alfeerd gt 8, off Iad

The pressure of the blood
inside the artery during
ventricular systole
(contration)is called
systolic pressure. dlg

DI IRR & At s & el @) &
ey d% ol g YT & 3ER Xad & a§
? freferep aTel et STl
|

The tropical cyclones in the Atlantic are called

ifew H efia TspaTal B $ET SIS :
Typhoon/cIg% b) Taifu/é'l"f
hurricane/gRa& d) willy-willies/faefl-faeitsr

The renowned peacock throne was made for the
Mughal emperor

wgy Rigrae 371 # 9 f5a uRrs gia wue & Wefta
Yr?

Babar/dTaR b) Akbar/3{haR
Shahjahan/-‘m%\_rlﬁ d) Jahangir/\_rlé'wll 3

Joint exercises between the air forces of India and
France are called.

YR 3R Wi Ft a1g A3 & St Igad nard &
T HET ST 872

Vajra/dsl b) Varuna/a2Ul
Yama/dH d) S:Fa[ I ﬁ'st T-|€'T'None of
these

Which of the following orbits is considered as the
most suitable for the purpose of placing weather
monitaring satellites?

frafafaa # ¥ 19 @ & & Naw-FRE STrEl

P T & IERA | WA IUGad T 1T 82
Geostationary/'l-@Ra'T&‘H b) Semi-synchronous orbit

Y- FHBTITD Bl
Molniya orbit oA d) Sun-Synchronous  orbit
Fel T wHeTere Feaf

SRIPIT TP HIaIa BT 3G P9 VM W
fear
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a)
c)

48.

a)
c)

49.

a)

c)

50.

a)

51.

a)
c)

52.

a)
c)

53.

a)
c)

54.

a)

Where was the ‘International Biotech Conclave’

inaugurated?
AR Myanmar b) 3fTH Assam
fIIRY Mizoram d) SHBTE Imphal

Before taking over the Mughal throne, Shahjahan
was called

e Rigw duem @ Ugq, el @)
el SITdT YTl

Khurram/@'ﬁ b) Saleem/Idlid

Kamran/®bTHRTHT d) Dara Shikohﬂmm

P Efe e fm 3 f6R s i gawsy
frgea fear 82

National Mineral Development Corporation has
appointed whom as its brand ambassador?

frepgd A Nikhat b) HRMETS T Mirabai
Zareen Chanu

RS ST Neeraj d) FoIIT AT Bajrang Punia
Chopra

Which of the following is NOT used in nuclear
reactors as a neutron-absorbing substance?

frufafea & 9 feaer sua Tifveia gfagae!
(Fruae?t) A <geiA-sa=nfia uerd & wu & 7Y fea

STaT 82

Hafnium/gTithTad b) Boron/dRT
Cadmium/&>SHaH d) Iron/cgT

Siderite is an oreof :

ATgSIIse 3740 A fHasT o 82

Copper /dTdT b) Zinc /fSi®

Iron /?ﬁET d) AIuminium/Q?I&lﬁTm

Which of the following harmones is NOT a steroid?

fafafea & @ @19 91 sidale W @MW) Jigy

(RRTS) 751 82

Vasopressin/é@lﬁﬁ‘l b) Progesterone /ISR
Testosterone /SRS d) Estrogen/ TEIS
Article empowers the president to

declareFinancial emergency.

TG wpufd w g smuea @
UV I BT AUPR U BT 2|

360 b) 368

365 d) 356

719 81 § URA 7 f5¥ ¢ & 91y U@ e Yo
3R Tfarefiaar Ao Iwsnd wR ganer fPu?

With which country India recently signed a
Comprehensive Migration and Mobility Partnership
Agreement?

Gf\ﬂ@}ﬂ Austria
:{Gﬁ(%l'g New Zealand

b) 3R Australia
d) NI4T Japan

55.

c)

56.

c)

57.

a)
c)
58.

a)

c)

59.

c)

60.

a)

c)

61.

a)

is an instrument for measuring a small
electric current

Bt fagga urT & A & fw wge

YT B |
Anemometer /Q:ﬁ'm"-:ﬁa b) Hygrometer /EﬁﬁﬂTtﬁ
Sphygmomanometer d) Galvanometer /e

The Paika Rebellion was led by-

TgT faglg &1 Aqad forad gRT fvar mar ur
Bakhsi Jagabandhu/ IR b) Titu Mir/ﬁiﬁ?
EAEE

Sidhu/R¥g d) Kanhu/&Tg

5 T ® ugell O, P SEE HRA F forg Ty
& e AR # g Sifaa g1l S oo gifie anedt
Saar ot wHdd foar mar 2

In which state for the first time, a mechanical
elephant resembling a live elephant was dedicated
to the deity in a temple of the state to perform daily
rituals?

RIAR Myanmar
fAIRE Mizoram

b) 3HH Assam
d) & Kerala

Which amongst the following is not a constitutional
body?

frafafEd # & 19 1 Saute e =5

Union  public
commission Y

ST

Finance Commission fal d) National Human Rights

3TART Commission TI'@'C[

service b) Election Commission

AT SN

The keoladeo Ghana National parks is located in.
HaaTea T AT I FE R 2

Uttar pradesh/GT‘Rm b) Rajasthan/ITSTRITT
Madhya Pradesh/d% d) Bihar/fSgR

The mountain range that runs between Narmada
and Tapti rivers is

Tfar o arht Afeal & S i W uda Aoft fRa 32
Shivalik  range/Rmaifd®  b) %\ta range/3Sidl Tad
rangefﬁw

Satpura Range/ddysT d) Vindhya
gad Soft

General Awareness

The Syed Mushtaq Ali Trophy is associated with
which game?

Jare gare 3relt oo fra Qo & Fafia 22
Cricket/fohdhe b) Judo/SS!
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c)

62.

a)

c)

63.

a)

c)

64.

a)
c)

65.

a)
c)

66.

a)

c)

67.

a)
c)

Swimming/aRTa d) Boxing/qadbaTol!

Which of the following Presidents of India did NOT

hold the office of the Vice-President?

HRd & 39 # 9 forg agufa 7 Su-rgufa &1 wguR

el HHTAT?

Dr. Zakir Husain/ST SR b) Varahagiri Venkata Giri
REMAR dove AR

R. Venkataraman/3IR. d) Giani Zail Singh/SI'F-ﬂ EKl

depexA ¥

7% fawett & wfta Afgen oma & 319 A faaw
! faa waifia faar

Who addressed the 31st Foundation Day of National
Commission for Women in New Delhi?

[ALE| H’{Draupadi b) = TS Narendra Modi
Murmu
31 XMl Rekha Sharma  d) FAd@r IdRAT  Nirmala

Sitharaman

Fa & # Pivma i\ Bt as1% It S aETie
HATE 182

Which anniversary of the Battle of Koregaon Bhima
was celebrated recently?

2004 200th b) 205dT 205th
210dT 210th d) 215df 215th
The Sl unit of electric chargeis :

fagga 3maxr &7 s.1. A 2-

Volt/dlee b) Ohm/3fH
Coulomb/&dTH d) Watt/dic
In the context of National Integration council,

which of the following statements is NOT correct?
?T@'q rEsdr Wﬁ'ﬂ'c{ (National Integration Council)
& def §, Pl d A e W s & &
Its first ineeting was b) Itis a constitutional body
convened in 1962 éﬂ—cﬁ WW@WW%I
Ugell 9% 1962 H g8
RERIT
It was formed as per the d) Prime Minister is the
recommendations of the chairman. UYTFHAT 37eel
National Integration gl
Conference held in 1961.

T 1961 H
G{Fiflﬁiﬁ R IR R
g (National
Integration  Conference)
o ReREl & SEER
[ERIRCIKI

Individuals with
universal donors-

_ 9d 9Yg 91 Afeadl $t gdear $g1 S

blood group are called

gl
AB b) B
A d) O

68.

a)

c)

69.

a)
<)

70.

a)
<)

71.

a)
c)

72.

a)
c)

73.

a)

c)

74.

a)
c)

75.

Which of the following file formats is used in
motion pictures?

gafe @A o) § g & 3 59 wsa ureu

i P T £ 2
EPUB b) xls
djvu d) MPEG-4

In the context of transport facility, India's KRW)
indigenous Automatic fare collection gating system
has been named as-

TRae gfawr F wed ¥, uRa ¥t Wl W

fovmar W A yomeht &1 W 7 32

ABHAR/3THR b) SWEEKAR/HIHR
SWAGAT/ZANTd d) SATKAR/HhRR

The scientific study of fishes iscalled :

ool & IS ST B HgT oIl 3-
Dendrology/@@?lﬁ b) Ophiology/ Sifthrerol
Pedology/a@?lﬁ d) Ichthyology/ FERNIGIE]

T DI / Simplify
6-36 x 3:6+ 5 =?
42/11

-42/11

gfﬁvﬁmaﬁﬁﬁmmquﬁwemﬁﬁum

b) -7
dy 7

Whose square root of the following numbers will be
an irrational number?

1225 b) 3025
625 d) 1825

AABC H, AB =12 ddhftex 81 £ A 3fiafk® ¥u A BC
P D W HTeq & forg fgfawfoe frar mar g 8D = 7
e R pc = 8.75 Adfiex 81 cA &) darg
et &2

In AABC, AB = 12 cm. £A is angle bisector to cut BC
at D. BD = 7 centimeters and DC = 8.75 centimeters.
What is the length of CA?

13.5 IR / b) 125 TeHiey/
centimeters centimeters
15 YR/ centimeters d) 145 Hdiez/

centimeters

gfE tan® = 1/V5 B, @ cosec?d - sec?0 BT HIF Udl
2y

If tan 8 = 1/V5 find the value of cosec?0 - sec?0.
24/5 b) 13/5

12/5 d) 1/5

gfe P avg &1 fad geu ¥.2592 3R 14 8% &
THPT 34 Y4 e 2

If the selling price of an article is Rs. 2592 and profit
is 8%, then what is its cost price?

%./RS 2,358 b) %./RS 2,400
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c)

76.

a)

77.

a)

c)

78.

a)
c)

79.

a)

80.

a)

%./RS 2,200

TP PR 45 e A srust wfora wR ugem & g 65
km/hr Bt T & Fewdt 71 36 e # ot Ao
E%Wwﬁnﬁrm/ﬁfﬁ)ﬁ-—ﬁﬁ'—ﬁ

A car travels at a speed of 65 km / hr to reach its
destination in 45 minutes. What should be its speed
(in km / h) to reach its destination in 36 minutes?

d) /RS 2,264

74 b) 65
52 d) 81.25
frddt 4 Sdiier @t yorr ad o & udAF FH F 1

HAfiex 31 gt w1 faar T, W W gHS A P
P g1 g IRF fPad § o 39 UoR ¥ T
TPV BT B (a1 52

A piece of 1 centimeter was cut from every corner
of a square with a side of 4 cm, each such piece has
an angle. What is its circumference and how much is
the area of an octagon made in this way?
16 dMfer ; 14 @@t p) 4v2 IR ; 14
IR 16 cm; 14 square TR 42 centimeters;

centimeters 14 square centimeters

@+4v2) ¥fiex ; 14 T d) 4+4v2 IR ; 14 Tt
JéteR (8+4\/2) R 4+47?2
centimeters; 14 square centimeters; 14 square
centimeters centimeters
et L_
g o % " s BT U T gRI?
1 3 1

a-+ — = 1 a’ + —
If a , what will be the value of a?
0 b) 1.5
2 d) -2

g Y amg M B g R 10 97 iR 2, AR g A
arrgﬁ'g'a»"rsngﬁ:g%sm%l gfe 37 aft it amg
180 48 96 3, @ g BT g @ B) e 2
Neetu's age is 10 years more than Meetu's age, and
Meetu's age is 7 years more than Gitu's age. If the
sum of their ages is 48 years, then what is Neetu's
age (in years)?

22 b) 28

25 d) 27

uTSy A foreft @Telt €1 BT 6 U H WR wFHaT 81 SElP
g UISY B & 1Y AP 34 4 ¢ § WR Il gl
$9d UTSY B B Ugd TP U & fe Wiar oIrar 8 39&
q1¢ sy A &) WY =g o7 far wmar 81 3w dat Hi
WA d pa fraar awg e

Pipe A can fill an empty tank in 6 hours. Whereas it
can fill it with pipe B in 4 hours. Only pipe B is
opened for the first one hour after which pipe A is
also turned on. Now how much time will it take to
fill the tank?

4 €¢ 25 BT 4 hours 25 b) 4 ¢ 15 fFE 4 hours 15

minutes minutes

c)

81.

a)

c)

82.

a)

83.

a)

c)

84.

c)

85.

a)
c)

86.

4 ¥¢ 10 T8 4 hours 10 d) 4 €< 40 f9FC 4 hours 40

minutes minutes

S YAl St e Frgd iy @ e @ R, ge e
# 909 91 gt Afdadl S HA: 4 JHS SR 4.2
JFs § UR FIdl g1 UgAT Afad 4.5 fparier ufa
HeT ®t Ifd | T T U1, Siafes gunT 6 fhardier ufa
HeT @t Tfd A I 8T 4Tl Yerms! &t feraniter ufa
der & wfa & e

A train running at a fixed speed crosses two persons
driving in the same direction in 4 seconds and 4.2
seconds respectively. The first one was running at a
speed of 4.5 kilometers per hour, while the second
one was running at a speed of 6 kilometers per
hour. What was the speed in kilometers per hour of
the train?

42 b) 36
40 d) 32

1 HEeil 1 AT 15 71§90 § 999 a1 3R wad
BIA TSI PT 3T 8 T STafh &t GAaH HBI3 BT
IR 1 71 59 T § wad 9t S A1 32

The mean of three numbers is 15. The difference
between the largest and smallest numbers is 8 while
the difference between the two minimum numbers
is 1. What is the largest number among these three?

24 b) 20

18 d) 22

96,156 Ud 60 PTHGAH GHIUd®d gl
The highest common Factor of 96, 156 and 60 is
3 b) 48

12 d) 4

145 Hiex ddt T e fadt 655 Hiexw @ qa &t 36
HHSt § UR PR A ¢ 1 ¢ B Ifa fobait 82

A 145 meter long train crosses a 655 meter long
bridge in 36 seconds. What is the speed of the train?

60 fpariex ufd de1 60 b) 70 fharier wfd et 70

kilometers per hour kilometers per hour

80 fhaiex ufd ©er 80 d) 75 fhaHer Ui der 75

kilometers per hour kilometers per hour

TP H&T 8, 60% To! DI TG Wig 7, 45% $i fage
3R 25% P TG R s @ uvic 31 U9 frea
ufawrd 7= & ot &9 9 o4 e faug wig &2

In a class, 60% of the children like Mathematics,
45% like Science and 25% like both Mathematics
and Science. What are the percentage of children
who like at least one subject?

45% b) 55%
70% d) 80%

e 049 B T Fif3a I 7 9.4 8 91 X & Tiedt
T3R5 3. § 6 P X A 99 &l 21 SHBT 1Y T g1
ufersra «am 82
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a)
c)

87.

a)
c)

88.

a)
c)

89.

a)

90.

a)
c)

91.

c)

92.

A fixed number of Sita buys 8 pens is Rs 7. and Rs. 5
sell at the rate of 6. What is his profit or loss
percentage?

100/21 % ATH/profit b) 100/21 % BT/loss

9 @ 9 g1H/No profit no d) 99/21 % g/loss

loss

k & T 98 A F1a FIfE e fore x2 + 5kx + k2
+5=0x + 2 ¥ yofa: fquifora & afFaix + 3 @
fawfora Y 31

Find the value for k for which x*> + 5kx + k» + 5 =
0 is completely divisible by x + 2 but not divisible
byx +3?

Tl 1 R 8 9Neither 1 b) 9

nor 9

13R9&MiBoth 1and 9 d) 1

47 ¥ fAyTfra 811 arell IR 3l &Y Jad Bt J=
I BRI

Find the smallest number of four digits divided by
47.

1034 b) 1025
1200 d) 1360

TP i T. 480 H & °f$yl Wdear 81 98 U Ul
P 15% B W 3R B 19% @IH W 39 a1 2|
3P TYTq 39 ¥ 2, 5 3w < uidal

A qed W 71 Gl uiddl o1 %9 ged g
Fiforgl

One person Purchases two watches at Rs. 480. He
sells one watch at 15% loss and the other at 19%
profit. He then learns that he has sold both watches
at the same price. Find the cost price of both the
watches.

¥/Rs . 280, 200
%./Rs 280, 205

3PSl 5, 8, 2, 6, 9, 15, 12, 18 F HI & HIADT &
3R BT U AT 82

What is the difference between the mean & median
of the figures 5, 8, 2, 6, 9, 15, 12, 18?

b) ¥./Rs 285, 200
d) ¥./Rs 270, 190

1.375 b) 1.125
0.875 d) 1.175
3. 1000 DT YR B aRT, a9AT, M F d4:5: 6

¥ orqura A faafea frar sirar 31 arr SR Aem &Y
TR & i iR e 82

A sum of 1000 Rupee is distributed among Tara,
Tamanna and Tina in the ratio of 4: 5: 6. What is the
difference between Tara and Tina"?

%./Rs 133.33 b) ¥./Rs234
F. /Rs250 d) ¥./Rs 150
I sin A+ sin? A = 1§, @ cos* A+ cos? A T HIH T

If sin A+ sin? A = 1, what will be the value of cos*
A+ cos?A?

a) 1 b) 4
0 2 d) 1/2

93. %E;n3xz+ax +4, x-8 ¥ ufa: Ayl 8, @t a®1 9=

If 3x*+ax +4 is completely divisible by x-8, then the
value of a will be:-

a) -25.5
c) 255

b) -24.5
d) 245

94. T AR FAIY 3N AFRBT 3T - 3T BTH B

U UM 8 3T 12 °4e A TP Wd A &l BHd B BT
HHd 31 3 TP - TP °e Bl P @iy A dofeus &U
} HTH FXd 8 raH $AdIT 9 a.m. | BRI RY Hear
& O PaTS Bd TH Bl S

Two persons Kuldeep and Agarkar, working
separately, can harvest the crop planted in a field in
8 and 12 hours respectively. They work alternately
in a one-hour work period in which Kuldeep starts
work from 9 am, so when will the harvesting end?

a) 5.30p.m. b) 6.30 p.m.
c) 4.30p.m. d) 7.30 p.m.

95. TP WagWI XP It Fuig AR forSt Farg wu=m:

3V23 cm 3R 16 ecm B wHT UH AW 22/7 A
§U, S P & I - Y§ BT &% FId BHforg |
The height and oblique height of an right circular
cone are 3V23 cmcm and 16 cm, respectively.
Assuming the value of mto be approximately 22/7,
find the the curve surface area of the cone.

a) 372 cm? b) 339 cm?

c) 328cm? d) 352cm?

96. ( QUES : 96 — 98) The bar graph shows the number

of employees working under the six different
Departments (A, B, C, D, E, F) of a certain company.
Study the diagram and answer the following
questions,

A gvs o TH Ut F o fug-fra [um (a,
B, C, D, E, F) # ®ria SHaiival @1 wen gxifan g1
?mmmmﬂﬂﬁsﬁvﬁaﬁ@amﬁmw

|

25

=

g & &

@ dE

—
o O

Number of employees
o

15
10
6 I_I s
[—l 3
(111
B C D E F
Department

Which Department has the second highest number
of employees?
fa faumT & gk = R IR ifie HHart 82

a) E b) A

c) D d) F

A
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97. If 5 employees are transferred from department A
to department F, then number of employees in
department F would be between those of which two
departments?

gfe 5 HH=fal &t fAUrT A | faumT F & wiEEfa
forar s, @Y v F A sdaial 1 @ F9

fur &Y J=n & v gz
a) Band/3fRC b) A and/3WRE
¢) Band/3fRD d) Cand/3RE

98. If departments F and D are merged to create a 2
new department G, then which department will
have the least number of employees?

gfe fAurN F 3R D &) U a1 fAUTT 6 9911 & forg
faerg forar STaT 8, o) 99 ®H SHaR! fed faur &

gl
a) G b) F
c) D d) B

99. Albert invested an amount of x rupees in a fixed

deposit scheme offering 10% per annum for 1st
year and 15% per annum for 2nd year and received
an amount of Rs. 20,240 after two years. What is x
(in Rs.)?
JeEe A Tw FAifda s aee | x $UT $t Al B 1
a9 & e 10% ufad ad $t T I 3R Ty & forw
15% "fa af @1 o ¥ A% fear ok & 9 ae
20,240 FUY B AR YT FT1 x (FUY H) FT 72

a) 15000 b) 16000
c) 14000 d) 18000
100. Ifa-b =2 and ab = 15, then what is the value of a*
-b3?
gfda-b=23Rab =158, @ a® - b® BT HE HT&?
a) 152 b) 112
c) 108 d) 98
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